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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022 16 NOV 2022 23 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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Ques 1- A 400 metres long train moves with a speed of 72 km/hr and crosses a boundary of
a steel factory in 2 minutes. How much time (in seconds) would it take to cross the boundary
if the boundary was 500 metres shorter?

Tah 400 HieT &l 3 72 fopfi/eier &t i & =rerd) ® 37X 2 e O U s2urd @™ i St i
IR ST 21 Afe T 500 Hiet B Bt ar Tt IR A 1 fohaT aue (Tehe W) ?

a) 65 seconds
b) 105 seconds

c) 95 seconds

d) 85 seconds
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Ques 2- A train 225 m long 1s running at a speed of 145 km/hr. What 1s the time (in
seconds) 1n which 1t will pass a man who starts from the engine running at the speed of 17

km/hr 1n the direction opposite to that of the train?

Teh 225 m sl TS, 145 km/hr 31 =Tl € =< &1 21 313 SATth $519 § Y& ek 17 km/hr sl
=T § LTSN shl frolid 14T H <[ Y% LT 2| ITS! 36 Afth ol fohd €HT H (Hehs H) TR
FTf?
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Ques 2- A train 225 m long 1s running at a speed of 145 km/hr. What 1s the time (in
seconds) 1n which 1t will pass a man who starts from the engine running at the speed of 17
km/hr 1n the direction opposite to that of the train?

Teh 225 m sl TS, 145 km/hr 31 =Tl € =< &1 21 313 SATth $519 § Y& ek 17 km/hr sl
=T § LTSN shl frolid 14T H <[ Y% LT 2| ITS! 36 Afth ol fohd €HT H (Hehs H) TR
SN2
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Ques 3- The length of the first diagonal of the rhombus 1s 8 cm and the length of the other

diagonal 1s 16 cm. Find area of rhombus ?

HHEITHS o et forehul ol TielTs 8 BT ST @l ferenvl ohl TielTg 16 BT 81 TS 2T &thar
BIGKCAIE DY

a) 128 cm?
b) 64 cm?
c) 32cm?

d) 48 cm?
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Ques 3- The length of the first diagonal of the rhombus 1s 8 cm and the length of the other
diagonal 1s 16 cm. Find area of rhombus ?

HHEITHS o et forehul ol TielTs 8 BT ST @l ferenvl ohl TielTg 16 BT 81 TS 2T &thar
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a) 128 cm?
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d) 48 cm?
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Ques 4- How to Find HCF of 108, 288 and 3607
108, 288 3T 360 T HCF ¥ JTd hi?

a) 36
b) 24
c) 18
d) 8
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Ques 5- An article 1s sold at Rs. 375 such that 1t's profit on an article 1s one-fourth of the
cost price. Find the cost price
Teh & sl 375 TR H 6 YehIL ST STl @ Toh & 9L SEhT ATH 3T e 3T e <A19TS &1 Il 2

Shal {1 ehifST)

a) 300 Rs
b) 350 Rs
c) 400 Rs

d) 450Rs
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Ques 5- An article 1s sold at Rs. 375 such that 1t's profit on an article 1s one-fourth of the
cost price. Find the cost price

Teh & sl 375 TR H 6 YehIL ST STl @ Toh & 9L SEhT ATH 3T e 3T e <A19TS &1 Il 2

Shal {1 ehifST)

a)
b) 350 Rs
c) 400 Rs

d) 450Rs
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Ques 6- The least perfect square which 1s divisible by each of 27, 54 and 72 1s

I TETH U1 1, AT 27, 54 3R 72 e 4 favsa

1296
1225
1369
1156
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Ques 6- The least perfect square which 1s divisible by each of 27, 54 and 72 1s

I TETH U1 1, AT 27, 54 3R 72 e 4 favsa

b)

c)
d)

1225
1369
1156
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Ques 7 - Three numbers are in the ratio of 1:2:3. If the multiplication of these three
numbers 1s 48,000, then what 1s the sum of these three numbers. ?

dIH GATC 1 2 2 @ 33 STUIG H 8| (< 3 o1 G131 3hT TUHSA 48,000 €, T 3 41 Gear
T 0T feheeT 27

a) 90
b) 100
c) 120
d) 150
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Ques 7 - Three numbers are in the ratio of 1:2:3. If the multiplication of these three
numbers 1s 48,000, then what 1s the sum of these three numbers. ?

dIH GATC 1 2 2 @ 33 STUIG H 8| (< 3 o1 G131 3hT TUHSA 48,000 €, T 3 41 Gear
T 0T feheeT 27

a) 90
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Ques 8 - Vinod sold his old washing machine for Rs. 10500 which he bought 6 months
before, on that washing machine he incurred a loss of 20%. To gain 20% profit at what price
he needs to sell the washing machine.

forta = 7ot et ST #2f 10500 ¥ & sr=ft ST 36 6 7 uect @t off, 39 anfi Aefi
T3 20% 31 BT T8l 20% TTH ITH L 3 [T I ATRIAT H Al foret hima ox si=H=T1 8l

a) 16550
b) 15750
c) 18000
d) 17650
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Ques 9 - Ifa®+ b*+ c?+2a+ 4b + 6¢ = -14 then

(a+b+c)(b+c)="?

<

4/5
6/5
2/5
5/6
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Ques 9 - Ifa®+ b*+ c?+2a+ 4b + 6¢ = -14 then

(a+b+c)(b+c)="?

a) 4/5
)

c) 2/5
d) 5/6
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Ques 10 - A 3 m wide path runs outside and around a rectangular park of length 125 m and
breadth 65 m. If cost of flooring is 10 rs/m?, find the total cost of flooring the path.

125 HieX AdTe 3T 65 HieX IIeTs AT ITRATRR UTeh o 1L 3 39k IR 3T 3 Hiet TeT aof
SFTIT 7T B S ORI shl AN 10 F9A/HIEL2 &, 1 T ST H3[ S 3hl el AT JTel b1 15|

a) 1275Rs
b) 11760 Rs
c) 12750 Rs

d) 1176 Rs
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Ques 10 - A 3 m wide path runs outside and around a rectangular park of length 125 m and
breadth 65 m. If cost of flooring is 10 rs/m?, find the total cost of flooring the path.

125 HieX AdTe 3T 65 HieX IIeTs AT ITRATRR UTeh o 1L 3 39k IR 3T 3 Hiet TeT aof
SFTIT 7T B S ORI shl AN 10 F9A/HIEL2 &, 1 T ST H3[ S 3hl el AT JTel b1 15|

a) 1275 Rs
b)

c) 12750 Rs
d) 1176 Rs
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Ques 11 - The average speed of a car 1s 30 km/hr without stoppage, with stoppage the
average speed of the car 1s 20 km/hr. For how much time did the car stops in an hour?

Ueh I ehl 3G =Tt oy o forT 30 ferwfl/eieT & =1 fore o grer 20 fori/sieT B U e H &
ferd @0 o foru form ot 89

a) 20 min
b) 10 min

c) 30 min

d) None of the above
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Ques 11 - The average speed of a car 1s 30 km/hr without stoppage, with stoppage the
average speed of the car 1s 20 km/hr. For how much time did the car stops in an hour?

Ueh I ehl 3G =Tt oy o forT 30 ferwfl/eieT & =1 fore o grer 20 fori/sieT B U e H &
ferd @0 o foru form ot 89

a)
b) 10 min
c) 30 min

d) None of the above
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Ques 12 - The difference between the 60% of a number and 28% of that number 1s 3200.

1
What is the 135% of that number?

. \ s N N (a s . 1
ToRet T=T & 60% 3T 3H T&AT o 28% b ==l ohT 3L 3200 2| 3§ T&IT 1 13-% T2

1200
1350
1459
1013.8
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Ques 12 - The difference between the 60% of a number and 28% of that number 1s 3200.

1
What is the 135% of that number?

. \ s N N (a s . 1
ToRet T=T & 60% 3T 3H T&AT o 28% b ==l ohT 3L 3200 2| 3§ T&IT 1 13-% T2

a) 1200
b)

c) 1459
d) 1013.8
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Ques 13 - The HCF and LCM of the two numbers are 31 and 1953 respectively. If the first
number 1s divided by 13, the quotient 1s 21 and the remainder 1s 6. the value of the other

number 1S
a1 AT hT HETH FHTISh I TEH I shael: 31 3 1953 81 Il Tged! S =l 13

4 forurird fopam ST &, T ATTohet 21 © ST e 6 81 GORT HSAT o1 7 &

a) 147
b) 217
c) 132
d) 264
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Ques 14 - If x + 2 is a factor of 4x” - kx - 8 then what is value of K?
afa x + 2, 4x? - kx - 8 T T UHETS &, T k T W foheHT 82
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Ques 15 - What 1s the unit digit in sum (zhn hl soh|§ 37k 1 %)

(1147 +116°% + 119%%) ?
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Ques 15 - What 1s the unit digit in sum (zhn hl soh|'§ 37k 1 %)

(1147 +116°% + 119%%) ?

b)
c) 3
d) 7
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Ques 16 - Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages
will give Rajeev's age. Suma 1s 5 years older than Rajeev. What will be the age of Suma
after 3 years?

g, TeH I TH sl SR SHAST: 10, 6 3T 13 | IToh! 1T T AT, TS{ial shi SATY <l =1 G,
TSt € 5 gt 81 3 Y S1e G hl 1Y fohefHT B

a) 34
b) 30
c) 29
d) 37
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Ques 16 - Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages
will give Rajeev's age. Suma 1s 5 years older than Rajeev. What will be the age of Suma
after 3 years?

g, TeH I TH sl SR SHAST: 10, 6 3T 13 | IToh! 1T T AT, TS{ial shi SATY <l =1 G,
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Ques 17- There are two circles with radi1 of 40 cm and 30 cm. Distance between their

centres 18 5\/5 cm. What 1s the length of their direct common tangent?
40 Bt 3T 30 eft b Frsaraiy et 21 3 §) S S ok siter B g 5V At 81 S A
SIS TIG@T hi TATE AT 87

a) Scm
b) 6cm
c) 10cm

d) 25cm
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Ques 17- There are two circles with radi1 of 40 cm and 30 cm. Distance between their

centres 18 5\/5 cm. What 1s the length of their direct common tangent?
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2
Ques 18- The total surface area of cylinder 1s 660 cm2. If the height of the cylinder 1s 14;%

more than radius of the cylinder, then find the radius of the cylinder.

ST Sl el IETI &Thel 660 ST HHT 81 Tl ST shl TS, sSio ohi Hsar @ 14—% 3t §, a9
EREEARESRINIGEEAISI

a) 7cm
b) 9cm
c) 10cm

d) 8cm
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